If F(x) = cqxsinx + ¢, cos x is-an antiderivative of f(x) = xcos x..
Then 3¢q + 5¢; =
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If k > 0, then [2sin“x cosx dx =
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If f(x) = J’: (%t“ — §t3) dt, then the inflection point(s) of
y = f(x) is(are) at x =

A) 1 only.

B) 3 only. L

C) 0 and 3.

D) S only.

E) O and 5.

Scanned with CamScanner



if J;' f(3x)dx = 15 and [, 3f(x)dx = 15, then [; f(x)dx =
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W fy £(x* + 1)dx =6, then [ 7f(x* — 4x 4+ 5)dx =
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If f'(x)+4cosx=2-— g"(x), where g(x) is the antiderivative
of f(x)and f(mr) = 2m, then

A) f(.r)=x+25inx-l-g.
B) [f(x)=x-—2EsihX+ R,
C) [flx)=x+2cos .r+-'§.
D) flx)=x—-2cosx+m,

E) [f(x)=sinx- cusxv-f—}
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Let J',: lcos x f(x) + sinx f'(x)] dx = 15, where

tanb = —V15 (0 < b < m). Then (f(b))z =
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If [, f(x)dx =43 and [ f(x)dx = —2, then
f_l1 (3sin~(x) — 4f(x))dx equals
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If F{x) = cyxe® + cae™ Is an antiderivative of f{x) = xe". Then
13[:'] - 5!:': =
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If F(x) = f,:ﬂm 3’\,{‘112 4+ 1 du,then F'(x) =
A) 0

B) m

C) Vsec2x

D) Vsectx

E) VsecPx
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If f(x) = x* A Bxb has a point of inflection at
x = —2,then b =
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9—(In x)2

2 dx < m.The minimum value of m =

3
Given 0 < J:.;;
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Let [[cosx f(x) + sinx f'(x)] dx = 8, where

tanb = —V8 (0 < b < m). Then (f(b))z =
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if [ f(x)dx=5and [,’ f(x)dx =39, then
7 fBx—1)dx =
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The University of Jordan
DEPARTMENT OF MATHEMATICS

Calculus | PROJECT A/ Sumimer 2130 Bue Date: 13082020

Part I: Find the absolute masdmum and minimom values of f(x) = fixt = 3cton [=1,1].

Part Il: Given f(x) = i:- -5:1 =xT 4 Ax+ 1.

{a) Find the intervals of increase and decrease.

() Find the local maximum and minimum values,

(¢) Find the intervals of concavity and the inflection points,
) Use the information from parts (o)-(e) 1o sketch the graph,

Partlll: Let glx) = xe™ — e, Find £(x) s that £'{x) = g'(x) and f(1) = 2.
Part IV: Find the limit,
{a) IE!}“ — tan x) sec(2x).

1 1
{‘h: .I'Iﬂ* --m .

.
@ lim (=)
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